Multiplication et Division par 0,1 (D)

Trouvez chaque produit ou quotient.

7,7 xX0,1= 5,8896 x 0,1 =
55462 X 0,1 = 5x0,1=

1,41 x 0,1 = 1,7%x0,1=
1,527 - 0,1 = 3,4469 x 0,1 =
1,1 x0,1= 1,5552 x 0,1 =
8,93 +0,1= 5,607 0,1 =
7,2+01= 5,466 X 0,1 =
3,87 xX0,1= 8,8+0,1=
1,8x0,1= 8x0,1=
6,674 - 0,1 = 7,177 = 0,1 =
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Multiplication et Division par 0,1 (D) Solutions

Trouvez chaque produit ou quotient.

7,7%x0,1=0,77 5,8896 x 0,1 = 0,58896
5,5462 x 0,1 = 0,55462 5x0,1=0,5

1,41 x 0,1 =0,141 1,7x0,1=0,17

1,527 - 0,1 =15,27 3,4469 x 0,1 = 0,34469
1,1x0,1=0,11 1,5552 x 0,1 = 0,15552
8,93 +0,1=89,3 5,607 +- 0,1 =56,07
7,2+01=72 5,466 x 0,1 = 0,5466
3,87 x0,1=0,387 8,8+0,1=88
1,8x0,1=0,18 8x0,1=0,8

6,674 + 0,1 = 66,74 7,177 - 0,1 =71,77
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